
Conversion Hexadécimal en Décimal (C)

Ecrivez chaque nombre dans le système de numération de base indiqué.

1. Hexadécimal = 7

Décimal =

2. Hexadécimal = 5B

Décimal =

3. Hexadécimal = 1D8

Décimal =

4. Hexadécimal = 214

Décimal =

5. Hexadécimal = 1A6

Décimal =

6. Hexadécimal = 1E6

Décimal =

7. Hexadécimal = 332

Décimal =

8. Hexadécimal = 1A6

Décimal =

9. Hexadécimal = 2475

Décimal =

10. Hexadécimal = BA0

Décimal =
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Conversion Hexadécimal en Décimal (C) Réponses

Ecrivez chaque nombre dans le système de numération de base indiqué.

1. Hexadécimal = 7

Décimal = 7

2. Hexadécimal = 5B

Décimal = 91

3. Hexadécimal = 1D8

Décimal = 472

4. Hexadécimal = 214

Décimal = 532

5. Hexadécimal = 1A6

Décimal = 422

6. Hexadécimal = 1E6

Décimal = 486

7. Hexadécimal = 332

Décimal = 818

8. Hexadécimal = 1A6

Décimal = 422

9. Hexadécimal = 2475

Décimal = 9333

10. Hexadécimal = BA0

Décimal = 2976
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